. A 60-V source is connected across a 30-k ~resistance. (a)
Draw the schematic diagram. (b) How much current flows
through the resistance? (c) How much current flows through
the voltage source? (d) If the resistance is doubled, how
much is the current in the circuit?

. A 12-V battery is connected across a 2- nresistance. (a)
Draw the schematic diagram. (b) Calculate the power
dissipated in the resistance. (c) How much power is supplied
by the battery? (d) If the resistance is doubled, how much is
the power?

. A picture-tube heater has 800 mA of current with 6.3 V

applied. (a) Draw the schematic diag?m, showing the heater
as a resistance. (b) How much is the # resistance of the
heater?

. Convert the following units, using powers of 10 where
necessary: (a) 12 mA to amperes; (b) 5000 V to kilovolts; (c)
Y% M_nto ohms; (d) 100,000~ to megohms; (e) 72 A to
milliamperes; (f) 9000 microS to siemens; (g) 1000
microamps to milliamperes; (h) 5 k.~ to ohms; (i) 8
nanoseconds (ns) to seconds.

. A current of 2 A flows through a 6- resistance connected
across a battery. (a) How much is the applied voltage of the
battery? (b) Calculate the power dissipated in the resistance.
(c) How much power is supplied by the battery?

. (a) How much resistance allows 30 A current with 6 V
applied? (b) How much resistance allows 1 mA current with
10 kV applied? Why is it possible to have less current in (b)
with the higher applied voltage?

. A source of applied voltage produces 1 mA through a 10-M .~
resistance. How much is the applied voltage?

. Calculate the current 1, in ampere units, for the following
examples: (a) 45V applied across 68 kn (b) 250 V across 12
Mn(c) 1200 W dissipated in 6004,

. Calculate the JR voltage for the following examples: (a) 68
microA through 22 M, (b) 2.3 mA through 47 kr; (c) 237 A
through 0.012 1 .

10. Calculate the resistance R, in ohms, for the following

examples: (a) 134 mA produced by 220 V; (b) 800 W
dissipated with 120 V applied; (c) a conductance of 9000
microS.
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Ohm’s Law ComTech Name [yundor) [ucbrons.
SHOW ALL WORK
1. Find the current. 2. Find the Resistance
0,054 + 0
_ _I=3a
I —* == =
I : — 12V R

—12V 240G T

-

3. Find the voltage applied.

I=.03a
—_—
39 V4 _£ 1k - Jooo O

=

4. Find the total resistance, the current in the circuit and the voltage drop across each

resistor.
B RT = —} 2 N
AR
IT = ' q
==t § 40 Ve= LV
. V4= 7 v
A Vi=_2
5. Find the total resistance, the current in the circuit and the voltage drop across each
resistor.
1 ko
AN :
R1 Ry=_q000 {)
S (S 1 ki
=i 2 Ir=_0.0% o
v = I \/
1 ke Vp=_A
R3 V= & ¥
1 ki Vis=_o V
AVAVAY AV/ 4= o V
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V(:}OOO(/ ITqu |
V= 1PV T,23 Lyeh Tr= ’

\, =~ [ooDy R, = 2500

U, 0V Ry < 19.46 1)
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ITI Parallel Circuits
SHOW ALL WORK

1. Find IT, 11, & 12

a5y R1 R2
T 500 0 500 &

3. Ifly=4a,Find V and It

— 9 R1 R2
500 @ 500

5. If Ir=6a and I; = 2a, find V & R2

il

—N wS Rt

T ' 500 Q2

Name {?‘""finv.éjn\: far Hora,

2. Find IT, Il, 12’ & I3

— R1 R2 R3
— 4oV

—|— clife] 60 1200

4, IfIl = 4a, Find V, IT, 12, & I3
E\/ 14 R1 Dr( R2 l2 R3
—[— 0a 60 120 0

6. IfIr=7aand I, =2a, find V & R3
_1 W 0 464 4,7
— 15019 g R R3 )7 ¢

40 Q
T




¥ g N
(\r:- 1§&L

j1 = J/‘g, A
100
—L A AYAY 7 A'
—— S| ok
29 —— Y 1kQ tkQ
3IQ J. —
AN <.
3Q A 6a A
AVAVAY ]
— I 20
S, §1gn 120 — v »
T s 100
i
80 A
J
40
[+
Bl gsm
= 4
3q

Find the total resistance and total current for each of the above circuits and the voltage
at point A.
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Comp tech Combo Circuits (Resnstorfs / f)/( )
{;‘,,,.W,, s e \(All work must be shoy@ for credlt) 6 pts ea.
9% Ra A, = O /o) la ) /
t\[ 3_;1,0‘\ ‘&, le 220 4 500K ) 1. For this figure, find: 6 s
L e The total resistance of the circuit_©7/ /3
e g The total current in the circuit ©. 07«
R I =V, 400001V : The voltage at pta 6 \J/
oz Up- Yy V- 17-1: 6
\
N L
\\ ‘5 \ “ \p' A» K 2. For this figure, find:
The total resistance @777 f L
- The total Current_9-0/7 «
R e
s verlien | res1stor(a ,
Lr= 0.Hfa The voltage at pta 7>y '
Ve ( >
B (1)
VYNV
3. For this figure, find: r 8{21
he total resmtance(_ : N S
Tl?e total current ©. 1 fl = )
'he current in the 4Q O 0,179 d
oltageatpt d .11V // o
@ 7
N 9V 58
N 052 il
| F
4. For below, find: 5. For below find:
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rl‘] S b4 ’\/\/\;
— 40V
+ oV T 30 B0 Q 1200
S — T
'-'\ L ! 2 i ] |
2 L 2 . E-ni#n
{1 = ‘ 176 130 [0 (20
Ty - %f Ly M’/Tu., R



A ‘ —-L | _f 3000
1,9 Y s e T o doo t Jepy & e T - 7§O(L
: 721,

19, 8,47 7a = / A //{ s 7),0 =] )7;0_(1

_! : L Al N FEET
- v R, = + T oo E 3
L1854 '1)) R '71‘,71111 = oo 2%0 //aoo Tiénes

g P;,,gm S ke k2 733K = 2

;k{ Q) SR T {1707 P R A
L Vi - (1 (L) j - 32 - (135 hom)) ) M e b

,'ﬁvﬁﬂaljpu%qlgj%ém\” end odd a/fl R, %) - j
. ﬁ;,—c’g_mp t é ? T~ - 2, /

) VQ: §(N “/k” 2 3a

»Is;.
I —_— - wssed floro oot
——e e B o;y:;’_—‘lgiwj;jmpjﬁ o k,, “,—:—;_ PR yf',:,, !T;,‘,/f'*:i "v,ijo,—,ii ]
o el oV




EZ”’*T:}

T, % & 5 ,,01,,7 = 0755

LA e V0 V)

\/D,(/om (05> //’7 75)(o. 755>

VD: 0,0%275 83}3§ +
o /4 ?4(71

\o’\»

(/9 666)(0755/}/})f’//
J, 01273

e

1\ '—L 1;) 1.3:0,385 5>3_9

W\M




- i Tl/@@’i{:nﬂ o 7@;&‘»}»‘)
- ! mt?da.uf . &éz(j; LOv)
-~ i/l”umm/ llf Y M"M@a

3

| wll, = €IS - P 4k

el o of ol

=~ fa«mwf@e d{« 7( mf»ffrz.]f&n u( 14/1?1/)

V=t o | ol gy 4 Sonp | ol

auw.j'ﬂ @@w{/ﬂan%} _
/]

—F 4,»7 fj @uf 4,(‘ / 7y ﬁ{ L}"ijg, i:-':.\,.,-‘/ 4 ,f'f’_éh«.—'ff!

M«? peced: J
tﬂ "7{: 2e0 T J By cusne 4/ @»4( Mﬁ»«/ rtwuuzw/

ﬁzen A Mrrep Euam 694,;0?!@0

- | Convem t‘%«f Ay M ‘ nipueq %ﬁéﬂ Doy 1.0 J«j‘%
’iﬂwéxi = alre og Mbe

| e = wpporikin of it

NJ)W’&M( w mwww,«/ » (\l’ 5 (Q\

b Abick, b e sl A gt Foie o con o
Vnﬂ’ I «  crent

N Gnibionsy, et i o] Ioned it (ompllh it )
R ‘CWAA'I /\"J’ no iﬂ«,ﬂ’s
- /)ﬁa"j '(’UV v/ Hp"ﬂ /té ﬂ La Rasecr /Pj' &

oy Gt Tl
A%m/éf OU'U“"JL /w(:l’wk) M

o DC "llfl i PAS u'uww{’ {%" @u&u 3 mj ,f@a.,;!{,’f’ ',»/.;mj,/

Lo Hhon




- | ot @VW, Sudl B il

e & wton e o AC

X |OHM' s L.,

- \/ = I R %@‘T B /:uneJ.l 4 m;feféﬂcg
T MK

m Ml e y ,/3 - /m.l,@l A Lerd, zrw«u?’, /A;o)

/
107’ R AN T




	20110814172024492
	20110814172054523

